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Agbirigba
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Graded by
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(With thanks to all those who helped translate solutions)



Stats stats stats

e 2nd easiest problem by average score
e Average score: 9.18/20

e 10 people scored full marks!
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Secret languages

e Transformations of ordinary language
e Usually involves adding or moving around sounds or syllables

e Found all over the world, for many different uses



Pig Latin (a form of English, not Latin)

Ix-nay on the
upid-stay!

But Zazu, you told me
they’re nothing but
slobbering, mangy, stupid
poachers!
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Ogbakiri & Agbirigba

e Agbirigba was “born from the need to communicate secretly by a (recently)
persecuted section of the Ogbakiri community” (Akinlabi & Ndimele, 2013)

e Unintelligible to most other Ogbakiri speakers

e 1In 2010, only around 30 people reported being able to speak and
understand Agbirigba



The solution

Appears to be fairly straightforward
- add t + vowel before every syllable,
that's it.

Ogbakiri

Agbirigba

Ogbakiri

Agbirigba

nda
bisi
oyd
mbdrs
SHi
ot
mini

weril

Atoda
tabitisi
Atobatord
stitfi

otiitd

timitini

tawetara

rimé
mond

ibére

tirittimé
tom5tdn3
itubetire
atiya
5t6nd
tom3tiyd
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The solution

“Which problem did you find the easiest?”

Quel probléme vous a paru le plus facile?

g e parfuis Qe afjacerce pan) | B it

“4, but sometimes appearances can be deceptive...”



The solution

e Insert tV before every syllable with the form CV
e Insert it after the first sound of words starting with:
o avowel

ot ottt
o a syllabic nasal (m, n, p, n, carrying tone)
e The nasal consonant assimilates to t (becomes n)

IIIII

mbard ‘ ntobatord



The solution

V is the same as the following vowel in terms of:

e Nasality

rimé tiritimé
e Tone (high/low)
o Falling tone ‘splits’ into high followed by low

ay4 | atfy3



The solution

V is the same as the following vowel in terms of:

e Tongue root position

€,1,0 and v are pronounced as e, i, 0 and u respectively,
but with the root of the tongue further back in the mouth.

eiou [+ATR] werl tawetdrt
erouva [-ATR] £bd dtobd  nda | rit6da

(No word in O. or A. may contain vowels with different [ATR])




The solution

e Vis selected fromi/1/u/u
e May be determined by following consonant:
o Before a labial consonant (b/m/w): select u/u

bisi tabitisi  rimé tiritiimé wéné twétiné
o Before y: select i/

aya | atiya



The solution

e Otherwise, V is determined by the following vowel:
e Before rounded (o/2/u/u) or back vowels (a): select u/u

otiitd rida | fitéda

ot

e Before front vowels (e/e/i/1): select i/1

5t

Stitfi



Assignments

(@) Exception: mini ~ timitini

- should be téimitini, because m is a labial
consonant



Assignments

(b)

1. 1ot —  tUrs tuty 5. bekws —  tube tukwo
2. FEWs —  tIre towo 6. riydrd  — tiri tiyo thrd
3. biké — tabi tako 7. hwoga — tshwotuga

y r A Y A Y L4 \

4.nyériya — nAtlyé tir trya



Honourable mentions




Honourable mentions

The following contestants scored 20/20:

Xie Lingrui Hong Kong EAT
Ritam Nag India Saffron
Daria Kryvosheieva Ukraine i

Roman Shabanov Netherlands Patat



Honourable mentions

The following contestants scored 20/20:

Merlin Fischer Germany Streichholzschachtelchen

Mihai-Alexandru Bratu Romania

Olga Zinovyeva Russia Strelka



Best solutions




Best Solution - Problem #4

[trlizetiniit tuzajtitsif]

Russia




Best Solution - Problem #4

Leonid Zaitsev

Russia




Best Solution - Problem #4

[atrliktusantuda tuiobtusan]
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Best Solution - Problem #4

Alexander Robson
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Best Solution - Problem #4

[ertitem tihret[tuke]




Best Solution - Problem #4

Artem Hrechka
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